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101| Rz 420 125 295 Kg |EE 1,404 216| K& 3,240 324
102|&JE7= W\ 2,094 2,094 Kg FIE 1,593 555
111|{&ElEEH 1,831 1,831 Kg =l 2,106 231
1I3|RAV B ® 3 3| Kg ERE 2,484
114|&E¥H 150 150] Kg EE 2,970 2,000
117(1F % 1,275 533 7421 Kg |EE 1,404 32| = 21,600 54
21| blg & 37 8 29] Kg |EE 1,080 55| 864

13417=2 274 108 166 Kg |&&=E 2,000 1,500|f& 2,484 1,620
140]5 12 27 27| Kg RE 183,600 18,000
47|EZ O 72 7 65| Kg |EE 17,281 b33|AEA « K> 17,280 4,500
158|&fED A LD 295 295 Kg B IR 2,592 1,188
2011\ L 410 410 Kg s - T3 1,080 300
203/ L 26 26| Kg SR 594 360
205406 L 839 839 Kg RIG 621 324
206| = 1E 765 765 Kg -8 605 216
207| XA K 12 12| Kg JuiE 972

208(A 2k 314 314 Kg AR 3,240 568
209(F 5B LD 240 2401 Kg Al 1,080 486
210|F AL 552 432 120 Kg |RiF 5,130 918|KIF 3,510 2,025
212|&ER ) 87 87| Kg = 3,078 1,836
222l 360 360 Kg =& 324 72
251[< A %E<CA 183 183 Keg [=ZH 2,516 1,512
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254|EhECH 823 52 771 Kg |BF 1,404 B[E 3,186 648
303[hA 2720 3 3| Kg i 864

306|L & LV 5 2 3| Keg |ERE 270 BIE 972

315|=b5 8 135 135| Kg =80 2,700 1,620
319|&h 5 426 426 Kg T - RH 2,160 1,150
332|117 WA =¥ 171 171 Kg 4 fE 1,782 1,566
351|HH 29 10 19| Kg |&E 2,700 2,484 | =4 16,200 3,240
354|IFE <Y 105 100 5| Kg |z 1,404 1,296| =% 2,700

355|HE Y 135 135| Kg s - hE 1,404 600
356|L L& 85 85| Kg B 1,512 108
357\ R 18 18| Kg EE 10,800 945
358| K8 15 15| Kg 4N 3,996 1,836
362| & 18 18| Kg E[E 1,620

401|251 103 103| Kg (3=} 2,052 1,620
402(5 & 25 25| Kg 40 5,778 5,508
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507| 8 —JLLhvp 10 10| Kg 2P 1,080
S12|/mEM N 300 300 Kg bF 1,450 1,350
523|AEmRT AT 174 174] Kg £ 3,564 1,260
24| BERLERV 22 22| Kg 2yl 2,220 1,470
554 1L ®A A 10 10| Kg JbF 1,300
558| 7R 50 50| Kg ibF 1,026 842
560|487 2 262 262 Kg £ 3,750 1,800
5664 M IC 32 32| Kg el == 7,452 4,000
S576|AE 1T 150 150 Kg JbF 1,250 1,200
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701(BYBA 1,464 1,464 Kg EE 5,184 1,620
710|5 2 HNF 262 262 Kg =y 934 891
Th4|FS AE 8 8 Kg EE 1,080
755|Fd L 46 46| Kg B 783 637
756N E T 15 15 Kg EE 1,080
76l BbYBHAZEL 5 5 Kg ERE 3,323
8011BHL = I 447 4471 Kg F - A 2,808 1,296
8023 1 60 60| Kg 2yl 1,814 1,404
805 = 1X 971 971| Kg JbF 1,274 716
810|FBKF 766 766| Kg JbF 4,104 236
15| =9 A ZE 9 9] Kg mE 1,200
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